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Class: 10th 
Subject: Mathematics 

       

v/;k; 1 

okLrfod la[;k, 

,d 'kCn@okD; esa mÙkj nhft, %         

1- ;wfDyM foHkktu izesf;dk fyf[k,A          
Write Euclid's division algorithm.          

2- 140 dks vHkkT; xq.ku[k.Mksa ds xq.kuQy ds :i esa fyf[k,A 
Express number as a product of its prime factor 140. 

vfr y?kqmÙkjh; iz'u 

1- ;wfDyM foHkktu ,YxksfjFke ls 135 vkSj 225 dk HCF ¼egÙke lekorZd½ Kkr dhft,A    
Use Euclid's division algorithm find HCF of 135 and 225. 

2- 12] 15 vkSj 21 dk y?kqÙke lekoR;Z Kkr dhft,A 
Find the LCM of the 12, 15 and 21. 

3- crkb, la[;k 7x6x5x4x3x2x1x+5 HkkT; D;ksa gksrs gSa\        
Explain why 7x6x5x4x3x2x1x+5 is composite. 

4- vHkkT; xq.ku[kaM fof/k }kjk 12] 15 dk H.C.F. Kkr dhft,A 
Find H.C.F. of 12 and 15 by prime factorization method. 

nh?kZ mÙkjh; iz'u 

1- ;wfDyM foHkktu izesf;dk dk iz;ksx djds n'kkZb, fd fdlh /kukRed iw.kk±d dk ?ku 9m] 9m+1] ;k 9m$8 
ds :i dk gksrk gSA 

Use Euclid's division lemma to show that the cube of any positive integers is of the form 9m, 9m+1, or 9m+8. 

2- crkb, fd fuEufyf[kr ifjes; la[;kvksa ds n'keyo izlkj lkar gSa ;k vlkar vkorhZ gSa % 

1- 
ଵ଻

଼
  2- 

଺ସ

ସହହ
 

State whether the following rational numbers will have a terminating decimal. Expansion or a non-
terminating repeating decimal. Expansion: 

1- 
ଵ଻

଼
  2- 

଺ସ

ସହହ
 

3- ;wfDyM foHkktu ,YxksfjFe dk iz;ksx djds nh xbZ la[;kvksa dk egÙke lekiorZd Kkr dhft,A 135 vkSj 
225A               
Find the H.C.F. of two numbers 135 and 225 using Euclid division algorithm. 

4- n'kkZb, fd fdlh /kukRed iw.kk±d fo"ke la[;k dks 6q+1, 6q+3, ;k 6q+5 ds :i esa fy[kk tk ldrk gS] tgk¡ 
q dksbZ iw.kk±d gSA 
Show that any positive odd integer is of the form 6q+1, 6q+3, or 6q+5, where q is some integer. 
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v/;k; 2 

cgqin 

lgh fodYi pqudj fyf[k,A         

1- f}?kkr cgqin ݔଶ + ݔ7 + 10 ds 'kwU;dksa dk ;ksx gksxkA  

a. 7   b. ଵ
଻
   c. −7   d. ଻

ଵ଴
 

Find the sum of polynomial ݔଶ + ݔ7 + 10 ݅. ݁.(ch. 2) 

a. 7   b. ଵ
଻
   c. −7   d. ଻

ଵ଴
 

ଶݔܽ -2 + ݔܾ + ܿ ds 'kwU;dksa dh vf/kdre la[;k gksxhA  
a. 2   b. 1    c. 4   d. 3 

Maximum nos of zeros in polynomial ܽݔଶ + ݔܾ + ܿ.  

a. 2   b. 1    c. 4   d. 3 

fjDr LFkku dh iwfrZ dhft, % 

1- cgqin ݔଶ + ݔ4 + 8 ds 'kwU;dksa dk ;ksx ------------------- gSA       

Sum of zeros of polynomial ݔଶ + ݔ4 + 8 is ……………......       

vfr y?kqmÙkjh; iz'u 

ଶݔ3 -1 + ݔ4 + 1 dh ?kkr fyf[k,A          

Write power of 3ݔଶ + ݔ4 + 1.          

ଶݔ2 -2 + ݔ3 + 1 dks ݔ + 2 ls Hkkx nhft,A         
Divide 2ݔଶ + ݔ3 + 1by ݔ + 2. 

3- fdlh cgqin dk ݕ =  v{k ds nks fcanqvksa ij dkVrk gSA cgqin ds 'kwU;dksa dh la[;k Kkr ݔ xzkQ (ݔ)݌
dhft,A 

The graph ݕ =  .axis in two points, find the zeros of polynomial ݔ of polynomial cut (ݔ)݌
ଶݔ -4 − ݔ4 + 6 esa 'kwU;dksa dk ;ksx ,oa 'kwU;dksa dk xq.kuQy fyf[k,A     

Write the sum and product of zeros of the polynomial ݔଶ − ݔ4 + 6.      

;fn dksbZ xzkQ ݕ=p(ݔ), ݔ v{k dks nks fcanqvksa ij dkVrk gS] rks p(ݔ) ds 'kwU;dksa dh la[;k Kkr dhft,A 
If a graph ݕ=p(ݔ), cut ݔ axis on two points, then find the number of zeros.  

nh?kZ mÙkjh; iz'u 

1- tk¡p dhft, fd f=?kkr cgqin ܲ(ݔ) = ଷݔ3 − ଶݔ5 − ݔ11 − 3 ds 'kwU;d 3] &1 vkSj 
ିଵ

ଷ
 gSA 

Verify that 3, -1,  
ିଵ

ଷ
, are the zeroes of the cubic polynomial ܲ(ݔ) = ଷݔ3 − ଶݔ5 − ݔ11 − 3 and then 

verify the relationship between the zeroes and coefficients. 
2- cgqin ݔଶ − ݔ2 − 8 ds 'kwU;d Kkr dhft, vkSj 'kwU;dksa rFkk xq.kkadksa ds chp ds laca/k dh lR;rk dh 

tk¡p dhft,A 
Find zeros of polynomial ݔଶ − ݔ2 − 8 also verify the relation between zeros and coefficient. 

3- f}?kkr cgqin ݔଶ + ݔ7 + 10 ds 'kwU;d Kkr dhft, vkSj 'kwU;dksa vkSj xq.kkadksa ds chp laca/k dh lR;rk 
dh tk¡p dhft,A             
Find the zeros of a quadratic polynomial ݔଶ + ݔ7 + 10, also verify the relation between zeros and 
coefficients of polynomial.           
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4- foHkktu ,YxksfjFe dk iz;ksx djds ܲ(ݔ) dks ݃(ݔ) ls Hkkx nsus ij HkkxQy ,oa 'ks"kQy Kkr dhft,A 
(ݔ)ܲ  = ସݔ − ݔ5 + 6, (ݔ)݃ = 2 −  .ଶݔ
Using division algorithm divide ܲ(ݔ) by ݃(ݔ) find quotient and remainder where ܲ(ݔ) = ସݔ − ݔ5 +
6and ݃(ݔ) = 2 −  .ଶݔ

 

v/;k; 3 

nks pj okys jSf[kd lehdj.k ;qXe 

lgh fodYi pqudj fyf[k,A          

1- ܽଵݔ + ܾଵݕ + ܿଵ = 0 vkSj ܽଶݔ + ܾଶݕ + ܿଶ = 0 ls fu:fir js[kkvksa ds izfrPNsn djus dk izfrca/k gSA  

a.
௔భ

௔మ
=

௕భ

௕మ
  b- 

௔భ

௔మ
≠

௕భ

௕మ
  c.

௔భ

௔మ
=

௕భ

௕మ
=

௖భ

௖మ
 d.

௔భ

௔మ
=

௕భ

௕మ
≠

௖భ

௖మ
 

The condition for the lines whose equations are ܽଵݔ + ܾଵݕ + ܿଵ = 0andܽଶݔ + ܾଶݕ + ܿଶ = 0 are 
intersecting, if 

a.
௔భ

௔మ
=

௕భ

௕మ
  b- 

௔భ

௔మ
≠

௕భ

௕మ
  c.

௔భ

௔మ
=

௕భ

௕మ
=

௖భ

௖మ
 d.

௔భ

௔మ
=

௕భ

௕మ
≠

௖భ

௖మ
 

2- nks ljy js[kkvksa ܽଵݔ + ଵܾݕ + ܿଵ = 0 rFkk ܽଶݔ + ܾଶݕ + ܿଶ = 0 ds lekarj gksus dh 'krZ gSA   

a. ௔భ

௔మ
=

௕భ

௕మ
=

௖భ

௖మ
  b. ௔భ

௔మ
≠

௕భ

௕మ
 c. ௔భ

௔మ
=

௕భ

௕మ
≠  

௖భ

௖మ
  d. ௔భ

௔మ
≠

௕భ

௕మ
≠

௖భ

௖మ
 

The condition for two straight lines ܽଵݔ + ܾଵݕ + ܿଵ = 0 and ܽଶݔ + ܾଶݕ + ܿଶ = 0 are parallel.  

a. ௔భ

௔మ
=

௕భ

௕మ
=

௖భ

௖మ
  b. ௔భ

௔మ
≠

௕భ

௕మ
 c. ௔భ

௔మ
=

௕భ

௕మ
≠  

௖భ

௖మ
  d. ௔భ

௔మ
≠

௕భ

௕మ
≠

௖భ

௖మ
 

lR;@vlR; fyf[k, %           
1- js[kk ;qXe 2ݔ + ݕ3 − 9 = 0 vkSj 4ݔ + ݕ6 − 18 = 0 T;kferh; :i ls lekarj gSA 

Equation 2ݔ + ݕ3 − 9 = 0 and 4ݔ + ݕ6 − 18 = 0are parallel by geometrically. 

,d 'kCn@okD; esa mÙkj nhft, % 

1- laikrh js[kkvksa ds lehdj.k ds fdrus gy izkIr gksaxs\ 
How many solutions of the equation of coincident lines.        

nh?kZ mÙkjh; iz'u 
1- ik¡p o"kZ ckn tSdc dh vk;q mlds iq= dh vk;q dh rhu xquh gks tk,xhA ik¡p o"kZ iwoZ tSdc dh vk;q 

mlds iq= dh vk;q dh lkr xquh FkhA mudh orZeku vk;q D;k gS\      
Five years hence, the age of Jacob will be three times that of his son. Five years ago Jacob's age was seven 
times that of his son. What are their present ages?         

2- fuEufyf[kr jSf[kd lehdj.kksa dks izfrLFkkiu fof/k ls gy dhft,A 
ݔ7 − ݕ15 = 2 

ݔ  + ݕ2 = 3 

Solve the following pair of linear equations by substitution method. 
ݔ7 − ݕ15 = 2 

ݔ  + ݕ2 = 3 

3- izfrLFkkiu fof/k ls gy dhft,A         

ݔ  + ݕ = 14, ݔ − ݕ = 4 
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Solve the following pair of linear equation by the substitution method. 

ݔ + ݕ = 14, ݔ − ݕ = 4 

4- nks vadksa dh la[;k ds vadksa dk ;ksx 9 gSA bl la[;k dk ukS xq.kk] la[;k ds vadksa dks iyVus ls cuh la[;k 
dk nks xquk gSA og la[;k Kkr dhft,A 

The sum of digits of a two digit number is 9, the nine times of this number is equal to two times of the 
number which made by interchanging digits, find the number.  

 

 

v/;k; 4 

f}?kkr lehdj.k 

lgh fodYi pqudj fyf[k,A          

1- f}?kkr lehdj.k 2ݔଶ − ݔ4 + 3 = 0 dk fofordj gksxkA      
a.8   b.12   c. 6   d.−8 

Find the discernment of quadratic equation, 2ݔଶ − ݔ4 + 3 = 0.  

a.8   b.12   c. 6   d.−8 
2- f}?kkr lehdj.k ܽݔଶ + ݔܾ + ܿ = 0 ds nks fHkUu okLrfod ewy gksrs gSa ;fn    

a.ܾଶ − 4ܽܿ < 0 b.ܾଶ − 4ܽܿ = 0 c.ܾଶ − 4ܽܿ > 0 d.ܾଶ + 4ܽܿ > 0 

Roots of given quadratic equation ܽݔଶ + ݔܾ + ܿ = 0are real and distinct, if. (ch. 4) 

a.ܾଶ − 4ܽܿ < 0 b.ܾଶ − 4ܽܿ = 0 c.ܾଶ − 4ܽܿ > 0 d.ܾଶ + 4ܽܿ > 0 
3- lehdj.k ݔଶ + ݔ2 + 1 = 0 ds ewy gksaxsA         

a. leku  b. vleku   c. 'kwU;   d. ,d 

The roots of an equation ݔଶ + ݔ2 + 1 = 0 are.        

a. Equal   b. Not equal   c. Zero    d. One 

fjDr LFkku dh iwfrZ dhft, % 

1- ;fn fofoDrdj 'kwU; gS] rks ewy ------------------- gksaxsA 
If discriminant is zero then roots are ……………......        

fuca/kkRed iz'u 

1- iw.kZ oxZ cukus dh fof/k ls lehdj.k 5ݔଶ − ݔ6 − 2 = 0 ds ewy Kkr dhft,A 

Find the roots of the equation 5ݔଶ − ݔ6 − 2 = 0 by the method of completing the square. 

2- ,d jsyxkM+h ,d leku pky ls 360 fdeh- dh nwjh r; djrh gSA ;fn ;g pky 5 fdeh-@?kaVs vf/kd 
gksrh] rks og mldh ;k=k esa 1 ?kaVk de le; ysrhA jsyxkM+h dh pky Kkr dhft,A  

A train travels 360 km. at a uniform speed. If the speed had been 5 km/h more it would have taken 1 hour 
less for the same journey. Find the speed of the train. 

3- nks Øekxr /kukRed iw.kk±d la[;kvksa ds oxks± dk ;ksx 365 gSA la[;k,¡ Kkr dhft,A   

The sum of square of two consecutive positive integer is 365, find the numbers.    
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4- iw.kZ oxZ fof/k }kjk lehdj.k 2ݔଶ − ݔ7 + 3 = 0ds ewy Kkr dhft,A 

Find roots of equation 2ݔଶ − ݔ7 + 3 = 0 by competing the whole square method. 
v/;k; 5 

lekUrj Js<+h 

lgh fodYi pqudj fyf[k,A 

1- 3] 6] 9--- dk dkSu lk in 27 gSA 
a. ik¡pok¡  b. vkBok¡  c. uok¡   d. NBok¡ 

Which term of an ܣ. ܲ. 3, 6, 9 … … is 27.  

a. Fifth   b. Eighth c. Ninth   d. Sixth 

lR;@vlR; fyf[k, % 

1- Js.kh 8] 6] 4 -------- dk 6ok¡ in &2 gksrk gSA        
The sixth term of progression 8, 6, 4 ……… is -2.         

,d 'kCn@okD; esa mÙkj nhft, %        

1- Js.kh 2] ହ

ଶ
, 3,

଻

ଶ
 --------------------------- dk lkoZvarj D;k gksxkA 

Find common difference in the given A.P= 2] ହ

ଶ
, 3,

଻

ଶ
 --------------------------- 

2- Js.kh 2] 7] 12 --------------------------- dk 5ok¡ in D;k gksxkA  
Find the 5th term of the AP 2, 7, 12 …………………..  

nh?kZ mÙkjh; iz'u 
1- 21] 18] 15 ------------- dk dkSu lk in &81 gS\      

Which term of an arithmetic progression 21, 18, 15 ………. Is - 81. 
2- 8 ds izFke 15 xq.ktksa dk ;ksx Kkr dhft,A 

Find the sum of first 15 multiple of 8. 
3- ml lekarj Js.kh dk 31ok¡ in Kkr dhft, ftldk 11ok¡ in 38 vkSj 16ok¡ in 73 gSA 

Find the 31st term of an AP whose 11th term is 38 and the 16th term is 73. 
4- 636 ;ksx izkIr djus ds fy, l- Js.kh 9] 17] 25 --------- ds fdrus in ysus pkfg,A 

How many terms of the AP 9, 17, 25……… must be taken to give sum of 636. 

 

 

v/;k; 6 

f=Hkqt 

fjDr LFkkuksa dh iwfrZ dhft, %          

1- lHkh leckgq f=Hkqt ------------------- gksrs gSaA  
All equilateral triangles are ……………......  

lR;@vlR; fyf[k, % 

1- lHkh lef}ckgq f=Hkqt le:i gksrs gSaA        
All isosceles triangles are similar.          

nh?kZ mÙkjh; iz'u 
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1- FksYl izes; fyf[k, ,oa fl) dhft,A        
State Thalse theorem and prove it.         

2- ikbFkkxksjl izes; fyf[k, ,oa fl) dhft,A 
Write Pythagoras theorem and prove it. 

3- ABC ,d lef}ckgq f=Hkqt gS ftldk dks.k C ledks.k gSA fl) dhft, fd ܤܣଶ =    ଶAܥܣ2
ABC is an isosceles triangle right angled at C. Prove that ܤܣଶ =  .ଶܥܣ2

4- nks le:i ∆ܥܤܣ vkSj ∆ܨܧܦ ds {ks=Qy Øe'k% 64 ܿ݉ଶvkSj121 ܿ݉ଶgSA ;fn ܨܧ = 15.4 ܿ݉ gks] rks 
 Kkr dhft,Aܥܤ
Let ∆ܥܤܣ and ∆ܨܧܦ their areas be respectively 64 ܿ݉ଶ and 121 ܿ݉ଶ, if EF=15.4 cm. Find BC. 

 

 

v/;k; 7 

funsZ'kkad T;kfefr 

lR;@vlR; fyf[k, % 

1- ¼0] 0½ dh ¼3] 0½ ls nwjh 3 gksxhA          
The distance between (0, 0) and (3, 0) is 3.         

,d 'kCn@okD; esa mÙkj nhft, %         

1- fcanq ¼2] 3½ vkSj ¼4] 1½ ds chp dh nwjh fdruh gksxhA  
Find the distance of two point (2, 3) and (4, 1).  

vfr y?kq mÙkjh; iz'u 
1- fcanqvksa ¼0] 0½ rFkk ¼4] 3½ ds chp dh nwjh Kkr dhft,A       

Find the distance between points (0, 0) and (4, 3).      
2- ¼5] 3½ rFkk ¼3] 6½ dk e/; fcanq Kkr dhft,A 

Find the midpoint of the points (5, 3) and (3, 6). 
3- fcanqvksa ¼&3] 10½ vkSj ¼6] &8½ dks tksM+us okys js[kk[k.M dks fcanq ¼&1] 6½ fdl vuqikr esa foHkkftr 

djrk gSA 
Find the ratio in which the line segment joining the point (-3, 10) and (6, -8) divided by (-1, 6). 

,v{k ij og fcanq Kkr dhft,] tks (2 ݔ -4 −5) vkSj (−2, 9) ls lenwjLFk gSA 
Find the point on the ݔ axis which is equidistance from (2, -5) and (-2, 9). 

y?kq mÙkjh; iz'u 

1- K dk eku Kkr dhft, ;fn fcanq A¼2] 3½] B¼4] K½ vkSj C¼6] &3½ lajs[kh gSaA 
Find the value of K if the point A(2, 3) , B(4, K) and C(6, -3) are collinear. 

2- ml f=Hkqt dk {ks=Qy Kkr dhft, ftlds 'kh"kZ (2, 3), ¼&1] 0½ vkSj ¼2] &4½ gSaA 
Find the area of the triangle formed by the point (2, 3), (-1, 0) and (2, -4). 

 dk og eku Kkr dhft, ftlds fy, fcanq P(2, -3) rFkk Q(10, y) ds chp dh nwjh 10 ek=d gSA ݕ -3
Find the value of ݕ, for which the distance between point P(2, -3) and Q(10, y) is equal to 10 units. 

4- fcanq A ds funsZ'kkad Kkr dhft,] tgk¡ AB ,d o`Ùk dk O;kl gS ftldk dsanz ¼2] &3½ gS rFkk B ds funsZ'kkad 
¼1] 4½ gSaA 
Find the co-ordinate of point A, where AB is diameter of circle whose centre is (2, -3) and the co-ordinate of 
point B is (1, 4). 
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v/;k; 8 

f=dks.kfefr dk ifjp; 

lgh tksM+h cukb, %Match the column          
  
1-   A   B 

i. ݊݅ݏଶߠ    a. ݊ܽݐଶߠ 

ii. sin (90 − b. ௦௜௡ ఏ  (ߠ

௖௢௦ ఏ
 

iii. ߠ ݊ܽݐ  c. ଵ

௦௜௡ ఏ
 

iv. ܿߠ ܿ݁ݏ݋  d. ܿߠ ݏ݋ 
v. ܿ݁ݏଶߠ − 1  e. 1-ܿݏ݋ଶ ߠ 

    f. 1 +  ߠଶݐ݋ܿ

  
2-   A   B 

i. tan 65°  a. cos  ܣ
ii. ݊݅ݏଶ63 +  ܣଶܿ݁ݏ .ଶ63 bݏ݋ܿ
iii. 1 +  c. √3  ܣଶ݊ܽݐ
iv. sin  (90 −  °65 ݐ݋ܿ .d (ܣ
v. tan 60°  e. 1 

  
y?kq mÙkjh; iz'u 

1- ;fn sin ܣ = ଷ

ସ
]rks cos vkSj tan ܣ  dk eku ifjdfyr dhft,A ܣ

If sin ܣ = ଷ

ସ
 calculate cos and tanܣ  .ܣ

2- eku fudkfy, sin 60°. cos 30° + sin 30° cos 60°- 
Evaluate sin 60°. cos 30° + sin 30° cos 60°. 

3- ;fn 15 cot ܣ = 8rks sin rFkk sec ܣ     dk eku Kkr dhft,A ܣ
If 15 cot ܣ = 8 then find the value of sin and secܣ        .ܣ

4- ;fn ݊ܽݐଶܣ = cot(ܣ − 18°) tgk¡ 2ܣ ,d U;wudks.k gS] rks ܣ dk eku Kkr dhft,A 
If ݊ܽݐଶܣ = cot(ܣ − 18°), where 2ܣ is an acute angle, find the value of A. 

fuca/kkRed iz'u 

1- fl) dhft, fd ටଵା௦௜௡ ஺

ଵି௦௜௡ ஺
= ܣ ܿ݁ݏ +    .ܣ ݊ܽݐ

Prove that ට
ଵା௦௜௡ ஺

ଵି௦௜௡ ஺
= ܣ ܿ݁ݏ +  .ܣ ݊ܽݐ

2- fl) dhft, ୡ୭ୱ ஺

ଵାୱ୧୬ ஺
+

ଵାୱ୧୬ ஺

ୡ୭ୱ ஺
= 2 sec  .ܣ

Prove that ୡ୭ୱ ஺

ଵାୱ୧୬ ஺
+ ଵାୱ୧୬

ୡ୭ୱ ஺
= 2 sec   .ܣ

3- fl) dhft, fd (ܿߠ ܿ݁ݏ݋ − ଶ(ߠ ݐ݋ܿ =
ଵି௖௢௦ ఏ

ଵାୡ୭ୱ
.       

Prove that (ܿߠ ܿ݁ݏ݋ − ଶ(ߠ ݐ݋ܿ =
ଵି௖௢௦ ఏ

ଵାୡ୭ୱ
.       
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4- fl) dhft, ଵା௦௘௖ ஺

ୱୣୡ ஺
=

௦௜௡మ஺

ଵିୡ୭ୱ ஺
. 

Prove that ଵା௦௘௖ ஺

ୱୣୡ ஺
=

௦௜௡మ஺

ଵିୡ୭ୱ ஺
. 

 

 

v/;k; 9 

f=dks.kfefr ds dqN vuqiz;ksx 

,d 'kCn@okD; esa mÙkj nhft, % 

1- fdlh [kaHks dh Nk;k rFkk Å¡pkbZ leku gksus ij lw;Z dk mUu;u dks.k fdruk gksxk\    
If shadow and height of the pole are equal then what is the angle of elevation of sun.    

2- n`f"V js[kk fdls dgrs gSaA 
What is the definition of line of sight? 

nh?kZ mÙkjh; iz'u 

1- Hkwfe ds ,d fcanq ls tks ehukj ds ikn fcanqvksa ls 30 eh- dh nwjh ij gS] ehukj ds f'k[kj dk mUu;u dks.k 
300 gSA ehukj dh Å¡pkbZ Kkr dhft,A 
The angle of elevation of the top of a tower from a point on the ground, which is 30 meter away from the 
foot of the tower is 300. Find the height of the tower. 

2- 7 ehVj Å¡ps Hkou ds f'k[kj ls ,d dscy VkWoj ds f'k[kj dk mUu;u dks.k 60° gS vkSj blds ikn dk 
voueu dks.k 45° gSA VkWoj dh Å¡pkbZ Kkr dhft,A 
From the top of a 7 m. high building, the angle of elevation of the top of a cable tower is 60° and the angle of 
depression of its foot is 45°. Determine the height of the tower. 

3- vka/kh vkus ls ,d isM+ VwV tkrk gS vkSj VwVk gqvk Hkkx bl izdkj eqM+ tkrk gS fd isM+ dk f'k[kj tehu dks 
Nwus yxrk gS vkSj blds lkFk 300 dk dks.k cukrk gSA isM+ ds ikn&fcanq dh nwjh tgk¡ isM+ dk f'k[kj tehu 
dks Nwrk gS] 8 eh- gSA isM+ dh Å¡pkbZ Kkr dhft,A  
A tree breaks due to storm and the broken part bends so that the top of the tree touches the ground making 
an angle 300 with it. The distance between the feet of the tree to the point where the top touches the 
ground is 8 m. find the height of the tree. 

 

v/;k; 10 

o`Ùk 

fjDr LFkkuksa dh iwfrZ dhft, %         

1- fdlh òÙk dh Li'kZ js[kk mls ------------------- fcanqvksa ij izfrPNsn djrh gSA  
A tangent to a circle intersects it in ……………...... point(s). 

2- cká fcanq ls fdlh òÙk ij [khaph xbZ nksuksa Li'kZ js[kkvksa dh yackb;k¡ ------------------- gksrh gSaA 
The lengths of tangents drawn from an external point to a circle are ……………...... 

3- fdlh fcanq ls o`Ùk ij [khaph xbZ Li'kZ js[kk,¡ ------------------- gksrh gSaA     
The tangents drawn from a point to the circles are …………….......     

,d 'kCn@okD; esa mÙkj nhft, % 

1- o`Ùk rFkk mldh Li'kZ js[kk ds mHk;fu"B fcanq dks D;k dgrs gSa\     
What is the name of point which is common in circle and its tangent?      
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y?kq mÙkjh; iz'u 
1- ,d fcanq ܣ ls] tks ,d òÙk ds dsanz ls 5 ܿ݉. nwjh ij gS] o`Ùk ij Li'kZ js[kk dh yackbZ 4 ܿ݉. gSA o`Ùk dh 

f=T;k Kkr dhft,A             
From a point A, which is 5 cm. away from the centre of circle, a tangent is drawn on circle, the length of 
tangent is 4 cm., find radius of circle.          

2- o`Ùk ds cká fcanq ls òÙk ij [khaph xbZ Li'kZ js[kkvksa dh yackb;k¡ cjkcj gksrh gSaA fl) dhft,A 
Prove that tangents drawn from a point to the circle are equal. 

3- nks ladsanzh; òÙkksa dh f=T;k;sa 5 lseh- rFkk 3 lseh- gSaA cM+s o`Ùk dh ml thok dh yackbZ Kkr dhft, tks 
NksVs o`Ùk dks Li'kZ djrh gksA 
Two concentric circles are of radius 5 cm. and 3 cm. find the length of the chord of the larger circle which 
touches the smaller circle. 

 

 

v/;k; 11 

jpuk,¡ 

fuca/kkRed iz'u 

1- 6 lseh- f=T;k okys o`Ùk ds dsanz ls 10 lseh- dh nwjh ij fLFkr ,d fcanq ls òÙk ij Li'kZ js[kkvksa dk ,d 
;qXe fufeZr dhft,A            
Construct a pair of tangents from a point which is 10 cm. away from the centre of circle whose radius is 6 
cm. 

2- ,d f=Hkqt tgk¡ BC=6 cm, AB=5 cm. rFkk∟ABC=600, cukb, rFkk ,d f=Hkqt ,slk cukb, ftldh Hkqtk,¡ bl 
f=Hkqt dh ଷ

ସ
 xquh gksaA 

Draw a triangle where BC=6 cm, AB=5 cm. and ∟ABC=600, also draw a triangle whose sides are ଷ
ସ
 of the sides 

given triangle.  
3- 7-6 lseh- yEck ,d js[kk[k.M [khafp, vkSj bls 5%8 esa foHkkftr dhft,A nksuksa Hkkxksa dks ekfi,A  

Draw a line segment of length 7.6 cm. and divide it in the ratio 5:8 measure the two parts. 

 

 

v/;k; 12 

o`Ùkksa ls lacaf/kr {ks=Qy 

lgh fodYi pqudj fyf[k,A 

1- ;fn òÙk dh f=T;k 6 lseh- gS] rks mldk {ks=Qy gksxkA       

a.6ߨ oxZ lseh  b- 36ߨ oxZ lseh c.గ
଺
oxZ lseh  d. 1 oxZ lseh 

If the radius of circle is 6 cm., then the area is:        

a. 6ݍݏ ߨ. ܿ݉.  b. 36ݍݏ ߨ. ܿ݉. c. గ
଺

.ݍݏ  ܿ݉.  d. 1 ݍݏ. ܿ݉. 

fjDr LFkkuksa dh iwfrZ dhft, %          

1- f=T;k ݎ okys oÙ̀k dh ifjf/k ------------------- gksrh gSA  
The circumference of a circle whose radius 'r' is ……………......  



2- f=T;k ݎ okys oÙ̀k ds ,d f=T;k[k.M] ftldk dks.k va'kksa esa 
The area of sector = ……………...... whose radius 'r' and angle in degree in Q. 

3- ;fn òÙk dk {ks=Qy 4ߨ oxZ lseh
The area of circle is 4ݍݏ ߨ. ܿ݉., then radius of circle is ……………...... 

y?kq mÙkjh; iz'u  
1- o`Ùk ds ,d prqFkk±'k dk {ks=Qy Kkr dhft, ftldh ifjf/k 22 lseh

Find the area of quadrant of circle whose circumference is 22 cm.
2- ,d ?kM+h dh feuV dh lqbZ ftldh yackbZ 14 lseh

dhft,A 
The length of the minute hand of a clock is 14 cm. Find the area of swept by the minute hand

3- nks òÙkksa dh f=T;k,¡ Øe'k% 19 lseh
nksuksa o`Ùkksa dh ifjf/k;ksa ds ;ksx ds cjkcj gSA
The radii of two circles are 19 cm and 9 cm respectively find the radius of the circle which
equal to the sum of the circumference of the two circles.

4- f=T;k 4 lseh- okys ,d òÙk ds f=T;k[k.M dk {ks=Qy Kkr dhft, ftldk dks.k 30
Find the area of the sector of a circle with radius 4 cm. and angle is 30

nh?kZ mÙkjh; iz'u 

1- nh xbZ vkdf̀r esa Nk;kafdr Hkkx dk {ks=Qy Kkr dhft,A ;fn dsanz 0 okys nksuksa ladsanzh; òÙkksa dh f=T;k,¡ 
Øe'k% 7 lseh- vkSj 14 lseh- gS rFkk 

Find the area of the shaded region in fig. If radial of the two concentric circles with centre 0 are 7 cm. and 14 
cm. respectively and ∟AOC=40°.  

2- vkd̀fr esa Nk;kafdr Hkkx dk {ks=Qy Kkr dhft, ;fn 
vkSj BPC nks v/kZòÙk gSaA 

In the given figure ABCD is a square of side 14 cm. and APD and BPC are two semi circles.
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okys oÙ̀k ds ,d f=T;k[k.M] ftldk dks.k va'kksa esa ߠ gS] dk {ks=Qy -------------------
The area of sector = ……………...... whose radius 'r' and angle in degree in Q.  

oxZ lseh- gS] rks mldh f=T;k ------------------- gksxhA   
, then radius of circle is ……………......    

o`Ùk ds ,d prqFkk±'k dk {ks=Qy Kkr dhft, ftldh ifjf/k 22 lseh- gSA   
Find the area of quadrant of circle whose circumference is 22 cm. 
,d ?kM+h dh feuV dh lqbZ ftldh yackbZ 14 lseh- gSA bl lqbZ }kjk 5 feuV esa jfpr {ks=Qy Kkr 

The length of the minute hand of a clock is 14 cm. Find the area of swept by the minute hand
nks òÙkksa dh f=T;k,¡ Øe'k% 19 lseh- vkSj 9 lseh- gSA ml òÙk dh f=T;k Kkr dhft, ftldh ifjf/k bu 

ds ;ksx ds cjkcj gSA 
The radii of two circles are 19 cm and 9 cm respectively find the radius of the circle which
equal to the sum of the circumference of the two circles. 

okys ,d òÙk ds f=T;k[k.M dk {ks=Qy Kkr dhft, ftldk dks.k 30
Find the area of the sector of a circle with radius 4 cm. and angle is 300. 

Z vkdf̀r esa Nk;kafdr Hkkx dk {ks=Qy Kkr dhft,A ;fn dsanz 0 okys nksuksa ladsanzh; òÙkksa dh f=T;k,¡ 
gS rFkk ∟AOC=40°gSA     

 

Find the area of the shaded region in fig. If radial of the two concentric circles with centre 0 are 7 cm. and 14 
       

 

vkd̀fr esa Nk;kafdr Hkkx dk {ks=Qy Kkr dhft, ;fn ABCD Hkqtk 14 lseh- C dk ,d oxZ gS rFkk 

 

In the given figure ABCD is a square of side 14 cm. and APD and BPC are two semi circles.

------------------- gksrk gSA  

   
   

   

gSA bl lqbZ }kjk 5 feuV esa jfpr {ks=Qy Kkr 

The length of the minute hand of a clock is 14 cm. Find the area of swept by the minute hand in 5 minutes. 
gSA ml òÙk dh f=T;k Kkr dhft, ftldh ifjf/k bu 

The radii of two circles are 19 cm and 9 cm respectively find the radius of the circle which has circumference 

0 gSA 

Z vkdf̀r esa Nk;kafdr Hkkx dk {ks=Qy Kkr dhft,A ;fn dsanz 0 okys nksuksa ladsanzh; òÙkksa dh f=T;k,¡ 
    

Find the area of the shaded region in fig. If radial of the two concentric circles with centre 0 are 7 cm. and 14 
    

dk ,d oxZ gS rFkk APD 

In the given figure ABCD is a square of side 14 cm. and APD and BPC are two semi circles. 



3- 15 eh- Hkqtk okys ,d oxkZdkj ?kkl ds eSnku ds ,d dksus ij yxs [kwaVs ls ,d ?kksM+s dks 5 eh
ck¡/k fn;k x;k gSA eSnku ds ml Hkk

A horse is tied to a peg at one corner of a square shaped grass field of side 15 m. by means of a 5 m. long 
rope.  

4- ,d ?kM+h dh fefuV dh lqbZ ftldh yackbZ 14 lseh
dhft,A 

The length of the minute hand of a clock is 14 cm. find the area swept by the minute hand in 5 minute.

 

 

lR;@vlR; fyf[k, %     
1- 'kadq ds fNUud dk vk;ru ଵ

ଷ
ߨ

The volume of frustum of cone = 

2- v/kZxksys dk laiw.kZ i`"B 4ݎߨଶ gksrk gSA 
The total sphere area of hemisphere is 

fuca/kkRed iz'u  
1- ikuh ihus okyk 14 lseh- Å¡pkbZ okys ,d 'kadq ds fNUud ds vkdkj dk gS nksuksa o`Ùkkdkj fljksa ds O;kl 4 

lseh- rFkk 2 lseh- gSA bl fxykl dh /kkfjrk Kkr dhft,A 
A drinking glass is in the shape of a frustum of a cone of height 14 cm. The diameters of its
are 4 cm. and 2 cm. find the capacity of the glass. 

2- nks ?kuksa] ftuesa ls izR;sd dk vk;ru 
blls izkIr ?kukHk dk i`"Bh; {ks=Qy Kkr dhft,A 
2 cubes each of volume of 64 cm3 are joined end to end. Find the surface area of the resulting cuboid.

3- Øe'k% 6 lseh-] 8 lseh- vkSj 10 lseh
xksyk cuk;k tkrk gS] bl xksys dh f=T;k Kkr dhft,A
Metallic sphere of radii 4 cm., 8 cm. and 10 cm. respectively are melted to form a single solid sphere. Find 
the radius of the resulting sphere. 

 

fjDr LFkku dh iwfrZ dhft, 

1- izFke 5 izkd`r la[;kvksa dk ek/; 
Mean of first 5 natural number is ……………...... 
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Hkqtk okys ,d oxkZdkj ?kkl ds eSnku ds ,d dksus ij yxs [kwaVs ls ,d ?kksM+s dks 5 eh
ck¡/k fn;k x;k gSA eSnku ds ml Hkkx dk {ks=Qy Kkr dhft, tgk¡ ?kksM+k ?kkl pj ldrk gSA

A horse is tied to a peg at one corner of a square shaped grass field of side 15 m. by means of a 5 m. long 

,d ?kM+h dh fefuV dh lqbZ ftldh yackbZ 14 lseh- gSA bl lqbZ }kjk 5 fefuV esa jfpr {ks=Qy 

The length of the minute hand of a clock is 14 cm. find the area swept by the minute hand in 5 minute.

v/;k; 13 

i`"Bh; {ks=Qy vkSj vk;ru 

       
ଵݎ)ℎߨ

ଶ + ଶݎଵݎ + ଶݎ
ଶ) gksrk gSA  

The volume of frustum of cone = ଵ
ଷ

ଵݎ)ℎߨ
ଶ + ଶݎଵݎ + ଶݎ

ଶ) 

gksrk gSA       
The total sphere area of hemisphere is 4ݎߨଶ.      

Å¡pkbZ okys ,d 'kadq ds fNUud ds vkdkj dk gS nksuksa o`Ùkkdkj fljksa ds O;kl 4 
gSA bl fxykl dh /kkfjrk Kkr dhft,A     

A drinking glass is in the shape of a frustum of a cone of height 14 cm. The diameters of its
are 4 cm. and 2 cm. find the capacity of the glass.      
nks ?kuksa] ftuesa ls izR;sd dk vk;ru 64 cm3 gS] ds layXu Qydksa dks feykdj ,d Bksl cuk;k tkrk gSA 
blls izkIr ?kukHk dk ì"Bh; {ks=Qy Kkr dhft,A  

are joined end to end. Find the surface area of the resulting cuboid.
vkSj 10 lseh- f=T;kvksa okys /kkrq dh rhu Bksl xksyksa dks fi?kykdj ,d cM+k Bksl 

xksyk cuk;k tkrk gS] bl xksys dh f=T;k Kkr dhft,A 
8 cm. and 10 cm. respectively are melted to form a single solid sphere. Find 

 

v/;k; 14 

lkaf[;dh 

izFke 5 izkd`r la[;kvksa dk ek/; ------------------- gksrk gSA     
Mean of first 5 natural number is ……………......      

Hkqtk okys ,d oxkZdkj ?kkl ds eSnku ds ,d dksus ij yxs [kwaVs ls ,d ?kksM+s dks 5 eh- yach jLlh ls 
kksM+k ?kkl pj ldrk gSA 

A horse is tied to a peg at one corner of a square shaped grass field of side 15 m. by means of a 5 m. long 

gSA bl lqbZ }kjk 5 fefuV esa jfpr {ks=Qy Kkr 

The length of the minute hand of a clock is 14 cm. find the area swept by the minute hand in 5 minute. 

    
    

Å¡pkbZ okys ,d 'kadq ds fNUud ds vkdkj dk gS nksuksa òÙkkdkj fljksa ds O;kl 4 
   

A drinking glass is in the shape of a frustum of a cone of height 14 cm. The diameters of its two circular ends 
   

gS] ds layXu Qydksa dks feykdj ,d Bksl cuk;k tkrk gSA 

are joined end to end. Find the surface area of the resulting cuboid. 
f=T;kvksa okys /kkrq dh rhu Bksl xksyksa dks fi?kykdj ,d cM+k Bksl 

8 cm. and 10 cm. respectively are melted to form a single solid sphere. Find 
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lR;@vlR; fyf[k, %          1x5=5 

1- oxhZd̀r vkadM+ksa dk cgqyd Kkr djus dk lw= cgqyd= ݈ + ቂ
௙భା௙బ

ଶ௙భା௙బା௙మ
ቃ × ℎ gksrk gSA 

The formula of mode for classified data is = ݈ + ቂ
௙భା௙బ

ଶ௙భା௙బା௙మ
ቃ × ℎ. 

2- vkadM+ksa 2] 6] 4] 5] 0] 2] 1] 3] 2] 3 dk cgqyd 2 gSA  

The mode of given data 2, 6, 4, 5, 0, 2, 1, 3, 2, 3 is 2.  

3- vkadM+ksa esa vf/kdre vkòfÙk okyk izs{k.k cgqyd dgykrk gSA       
The term which has maximum frequency is called mode.       

fuca/kkRed iz'u 

1- fn, x, vkadM+ksa }kjk ek/; dh x.kuk dhft,A       

oxZ varjky 10-25 25-40 40-55 55-70 70-85 85-100 
fo|kfFkZ;ksa dh la[;k 2 3 7 6 6 6 

Calculate the mean of given data:     

Class interval 10-25 25-40 40-55 55-70 70-85 85-100 
Number of students 2 3 7 6 6 6 

2- fuEufyf[kr }kjk vLirky esa HkrhZ gksus okys ejht+ksa dh la[;k ,oa mudh vk;q ds laca/k esa gSA fn, x, 
vkadM+ksa ds vk/kkj ij cgqyd dh x.kuk dhft,A 

mez 5-15 15-25 25-35 35-45 45-55 55-65 
ejht+ksa dh la[;k 6 11 21 23 14 5 

The following table shows the ages of the patients admitted in a hospital during a year. 

Age 5-15 15-25 25-35 35-45 45-55 55-65 
Number of patients 6 11 21 23 14 5 

3- ek/; Kkr dhft,A  

vk;q oxZ 5&15 15&25 25&35 35&45 45&55 
jksxh dh la[;k 6 11 21 13 14 

Find the mean 

Age group 5&15 15&25 25&35 35&45 45&55 
No. of patients 6 11 21 13 14 

4- fuEufyf[kr caVu fdlh QsDVªh ds 50 Jfedksa dh nSfud vk; gSA 

nSfud vk; ¼#- esa½ 100&120 120&140 140&160 160&180 180&200 
Jfedksa dh la[;k 12 14 8 6 10 

 mijksDr caVu dks ,d de izdkj ds lap;h ckjackjrk caVu esa cnfy, vkSj mldk rksj.k [khafp,A 

The following distribution given the daily income of 50 workers of a factory. 

Daily income (in rs.) 100&120 120&140 140&160 160&180 180&200 
No. of workers 12 14 8 6 10 

Convert the distribution above to a less than type cumulative frequency distribution and draw its ogive. 
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v/;k; 15 

izkf;drk 

lgh fodYi pqudj fyf[k,A 

1- fdlh ?kVuk ds ?kfVr gksus dh izkf;drk P gS] rks mlds ?kfVr u gksus dh izkf;drk gksxhA   

a.ଵ

௉
   b.1  c. 'kwU;   d.1 − ܲ 

The probability of occur an event is P, then the probability of the event do not occur.    

a. ଵ

௉
   b. 1  c. Zero   d. 1-P 

lR;@vlR; fyf[k, %           
1- ,slh ?kVuk ftldk ?kfVr gksuk fuf'pr gS] dh izkf;drk 0 gksrh gSA 

The probability of certain event is zero. 

y?kq mÙkjh; iz'u 
1- ,d ikals dks ,d ckj Qsadk tkrk gSA ,d vHkkT; la[;k izkIr djus dh izkf;drk Kkr dhft,A 

In a throw of a dice, find the probability of getting prime number.     
2- 52 rk'k ds iÙkksa dh xM~Mh eas ls ,d iÙkk ;nP̀N;k [khapk tkrk gSA izkf;drk Kkr djks fd og ,d 

bDdk gksA 
In a well shuffled pack of 52 card; one card is taking out randomly, find the probability that the card be 
an ace. 

3- nks f[kykM+h laxhrk vkSj js'ek Vsful dk ,d eSp [ksyrs gSaA ;fn laxhrk }kjk eSp thrus dh izkf;drk 
0-62 gS( js'ek ds thrus dh izkf;drk D;k gksxh\  
Two players, Sangeeta and Reshma play a tennis match. It is known that the probability of Sangeeta 
winning the match is 0.62. What is the probability of Reshma winning the match? 

4- vPNh izdkj ls QsVh xbZ 52 iÙkksa dh ,d xM~Mh esa ls ,d iÙkk fudkyk tkrk gS] ,d ckn'kkg gksus dh 
izkf;drk ifjdfyr dhft,A 
One card is drawn from a well-shuffled deck of 52 cards. Find the probability of getting a one king. 

5- ,d FkSys esa 5 dkyh ,oa 3 yky xsan gSaA bl FkSys ls ,d xsan ;nP̀N;k fudkyus ij izkf;drk Kkr djks 
fd og yky gksA          
There is 5 black and 3 red balls in a bag. One ball is chosen randomly, find the probability that the ball 
will be red. 

6- ;fn fdlh ?kVuk ds ?kfVr gksus dh izkf;drk 0-05 gS] rks ml ?kVuk ds u ?kVus dh izkf;drk D;k 
gksxh\  
The probability of occurring an event is 0.05, then find the probability of that event when it not occur. 

7- ;fn P(E)=0.992 gS] rks ßE ughaÞ dh izkf;drk D;k gS\  
If P(E)=0.992, what is the probability of "Not E"?  

8- 20 cYcksa ds ,d lewg esa 4 cYc [+kjkc gSaA bl lewg esa ls ,d cYc ;kǹPN;k fudkyk tkrk gSA bldh 
D;k izkf;drk gS fd ;g cYc [+kjkc gksxkA 

A lot of 20 bulbs contain 4 defective ones. One bulb is drawn at random from the lot. What is the 
probability that this bulb is defective? 

 


